1. Problem 10-3 Calculating Projected Net Income [LO1]
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	A proposed new investment has projected sales of $720,000. Variable costs are 60 percent of sales, and fixed costs are $161,000; depreciation is $62,000. Prepare a pro forma income statement assuming a tax rate of 30 percent. What is the projected net income? (Input all amounts as positive values.)


	

	Sales
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ask your instructor a question

 HYPERLINK "javascript:;" \o "Check My Work" check my work

 HYPERLINK "http://ezto.mhecloud.mcgraw-hill.com/" \l "#" \o "Reference Information" references
2. Problem 10-4 Calculating OCF [LO1]
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	Fill in the missing numbers for the following income statement. (Input all amounts as positive values.)


	

	Sales
	$
	683,900
	

	Costs
	
	438,800
	

	Depreciation
	
	111,400
	

	
	

	

	

	EBIT
	$
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	Taxes (35%)
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	Net income
	$
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	Calculate the OCF.


	OCF
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	What is the depreciation tax shield?


	Depreciation tax shield
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3. Problem 10-6 Calculating Depreciation [LO1]
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	A piece of newly purchased industrial equipment costs $974,000 and is classified as seven-year property under MACRS. The MACRS depreciation schedule is shown in Table 10.7. Calculate the annual depreciation allowances and end-of-the-year book values for this equipment. (Leave no cells blank - be certain to enter "0" wherever required. Round your answers to 2 decimal places. (e.g., 32.16))


	Year
	Beginning Book Value
	Depreciation
	Ending book Value
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4. 

	Consider an asset that costs $666,000 and is depreciated straight-line to zero over its nine-year tax life. The asset is to be used in a five-year project; at the end of the project, the asset can be sold for $169,000. If the relevant tax rate is 30 percent, what is the aftertax cash flow from the sale of this asset?


	Aftertax salvage value
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5. Problem 10-9 Calculating Project OCF [LO1]
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	Keiper, Inc., is considering a new three-year expansion project that requires an initial fixed asset investment of $2.46 million. The fixed asset will be depreciated straight-line to zero over its three-year tax life, after which time it will be worthless. The project is estimated to generate $2,000,000 in annual sales, with costs of $695,000. If the tax rate is 35 percent, what is the OCF for this project? (Enter your answer in dollars, not millions of dollars, i.e. 1,234,567.)


	OCF
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6. 

	Dog Up! Franks is looking at a new sausage system with an installed cost of $525,000. This cost will be depreciated straight-line to zero over the project’s five-year life, at the end of which the sausage system can be scrapped for $79,000. The sausage system will save the firm $205,000 per year in pretax operating costs, and the system requires an initial investment in net working capital of $38,000. If the tax rate is 34 percent and the discount rate is 10 percent, what is the NPV of this project? (Do not round intermediate calculations and round your final answer to 2 decimal places. (e.g., 32.16))


	NPV
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7. Problem 10-14 Project Evaluation [LO1]
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	Your firm is contemplating the purchase of a new $575,000 computer-based order entry system. The system will be depreciated straight-line to zero over its five-year life. It will be worth $59,000 at the end of that time. You will save $265,000 before taxes per year in order processing costs, and you will be able to reduce working capital by $74,000 (this is a one-time reduction). If the tax rate is 34 percent, what is the IRR for this project? (Round your answer to 2 decimal places. (e.g., 32.16))


	IRR
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8. 

	A five-year project has an initial fixed asset investment of $360,000, an initial NWC investment of $40,000, and an annual OCF of −$39,000. The fixed asset is fully depreciated over the life of the project and has no salvage value. If the required return is 12 percent, what is this project’s equivalent annual cost, or EAC? (Negative amount should be indicated by a minus sign. Do not round intermediate calculations and round your final answer to 2 decimal places. (e.g., 32.16))


	Equivalent annual cost
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